Zadatak 10.  Odredi inverznu funkciju funkcije
1) f(x) =2logy(x— 1)+ 1;
2) f(x)=1log 5x—logs x—1;
) (x) =log 5 91
3) f(x) =loggx+ logs X;
3
X
4) f(x) =log, 5~ Iog%(4x);
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6) f(x):2<%)_x+1;

7 f(x)= log, 5%+ log
8) f(x)= Iogﬁx— log
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RjeZenje. 1) f(x) = 2logy(x— 1) +1;

x=2log(y—1)+1

x—1
— = logy(y — 1)
x—1

f1(x) = 2X_E_l +1;

2) f(x) = Iogﬁx—loglx— 1;
2

X= Iog\/ﬁy—logl y—1

2
x=2log,y+log,y — 1
x+1
3 =logyy
x+1



3) f(x) = loggx + logq X;

3
x=loggy+log1y
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X= > |Oggy_ |093y
1
X = _§ |Og3y
—2x = loggy
3=y
f=1(x) =32

4 () = logy 5 — logy (40);

X = Iogzg - Iog%(4y)

x = log, y — log, 2 + log, (4y)
x=logyy —1+log, 4+ log, y

x:2|0g2y+1
x—1
—— =logy
x—1
277 =y
4 x-1
f7"x)=2"72;
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X(1—2loggy) = loggy
X — 2xlogzy = loggy
x = logz y(2x+ 1)
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f1(x) = 3%1;
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7 f(x) = Iog\/§x+log% 3

x=log zY+log
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Xx=2logzy — Iog3§

X = 2loggy — loggy + logs 3

x=loggy+1

y:3X+1

P00 = 3%
8) f (x) = Iog\/zx— Iog%x— 1.

X= Iogﬁy— Iog%y—l
X =2logyy+logyy—1

x+1=3log,y
ﬂ'—m
3 = g2 Y
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1) = 2%





